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With which term is a command
economic system MOST closely

associated?

entrepreneurship
absolute advantage
governmental regulation
perfect competition
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With which term is a command
economic system MOST closely
associated?

a. entrepreneurship

b. absolute advantage

c. governmental regulation
d. perfect competition



George stopped by the store on his way home.

He got a parking spot near the door, paid $1.50 for a
large drink, and bought a lottery ticket for $1.00. Later
that evening, George found out he won $10,000.

The allocation strategies associated with George include:

a. Authority, price, and personal characteristic

b. First come/first served, price, and random selection
c. Price, random selection, and personal characteristic
d. Contest, random selection, and authority
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An assembly line can increase a factory’s
productivity because it allows workers to
a. diversify their skills

b. focus on a specific task

c. putin overtime hours on the job

d. use a wide range of knowledge
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An assembly line can increase a factory’s
productivity because it allows workers to
a. diversify their skills

b. focus on a specific task

c. putin overtime hours on the job

d. use a wide range of knowledge



The nation of Outbakistan needs to build a new
dam to control flooding near its largest city. If
Outbakistan is a pure market economy, then these

new improvements will MOST likely be left up to
a. the government

b. the individuals who are willing to pay for the
new dam
c. anyone who would benefits from the dam

d. the owners of the property on which the dam
would be built
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The nation of Outbakistan needs to build a new
dam to control flooding near its largest city. If
Outbakistan is a pure market economy, then
these new improvements will MOST likely be left
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a. the government

b. the individuals who are willing to pay for the
new dam
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You are in the clothing store. You see a pair of pants
and a T-shirt that you like. However, you have only
enough money for one item of clothing. You decide
to buy the pants.

What is the opportunity cost of your choice?

a. the cost of both items of clothing

b. the difference between the prices of the pants
and the T-shirt

. the T-shirt

d. the price of the pants
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You are in the clothing store. You see a pair of
pants and a T-shirt that you like. However, you
have only enough money for one item of clothing.
You decide to buy the pants.

What is the opportunity cost of your choice?

a. the cost of both items of clothing

b. the difference between the prices of the pants
and the T-shirt

c. the T-shirt

d. the price of the pants



If the county buys property for a new school,
this would be a

a. capital resource investment
b. human resource investment
c. entrepreneurship

d. land resource investment
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If the county buys property for a new school,
this would be a

a. capital resource investment
b. human resource investment
c. entrepreneurship

d. land resource investment



On the PPF graph, point E, represents what
condition?
a. Unattainable production

b. Inefficient production

c. Efficient use of productive
resources

d. Profit maximization point
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On the graph, the optimum price and level is:
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30 units at S2 each
30 units at S4 each
20 units at S3 each
10 units at S4 each
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On the graph, the optimum price and level is:

Price (dollars per unit)

c. 20 units at S3 each

40 50 B0
Quantity (units)
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Bill, George, and Roy work at Bucket of Suds car wash company.

Currently, each employee runs a car through the wash, then waxes

and vacuums it by himself. The process takes a long time. Bucket of

Suds would MOST likely improve their efficiency if

a. After the car comes through the wash, Bill, George, and Roy
vacuum and then wax each car together; then wash, vacuum
and wax the next; then wash, vacuum and wax the next.

b. Bill runs the wash line; Roy vacuums each car and George waxes
the cars.

c. Bucket of Suds hires Regina to run the wash line, allowing Bill,

George and Roy to concentrate on vacuuming and waxing each
car together.

d. Bucket of Suds increases their hours of operation.
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Bill, George, and Roy work at Bucket of Suds car wash company.
Currently, each employee runs a car through the wash, then waxes
and vacuums a car by himself. The process takes a long time. Bucket
of Suds would MOST likely improve their efficiency if

a. After the car comes through the wash, Bill, George, and Roy
vacuum and then wax each car together; then wash, vacuum
and wax the next; then wash, vacuum and wax the next.

b. Bill runs the wash line; Roy vacuums each car and George
waxes the cars.

c. Bucket of Suds hires Regina to run the wash line, allowing Bill,
George and Roy to concentrate on vacuuming and waxing each
car together.

d. Bucket of Suds increases their hours of operation.
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The nation of Outbakistan has no airport. If

Outbakistan has a command economy, the decision

of where to build it will MOST likely be left up to

a. a study conducted by University of Outbakistan

b. the Premier of Outbakistan

c. the people of Outbakistan in a referendum vote

d. ablue ribbon committee of airline
representatives
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The nation of Outbakistan has no airport. If

Outbakistan has a command economy, the decision

of where to build it will MOST likely be left up to

a. a study conducted by University of Outbakistan

b. the Premier of Outbakistan

c. the people of Outbakistan in a referendum vote

d. ablueribbon committee of airline
representatives



The opportunity cost of moving from
BtoAis: Computers

a. 7 units of computers
b. 39 units of textbooks
c. 4 units of computers
d. 26 units of textbooks

Textbooks
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The opportunity cost of moving from
BtoAis: Computers

d. 26 units of textbooks

Textbooks
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Which economic system is most capable
of rapidly growing a nation’s Gross Domestic
Product (GDP) when guided by a central planner?

a. authoritarian socialism
b. capitalism

c. democratic socialism
d. traditional economy

EF 4b 12



EF 4b

Which economic system is most capable
of rapidly growing a nation’s Gross Domestic
Product (GDP) when guided by a central planner?

a. authoritarian socialism
b. capitalism

c. democratic socialism

d. traditional economy
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What are governments MOST LIKELY
attempting to do when they increase
unemployment benefits, implement more
welfare programs, and rearrange tax brackets?
protect property rights

resolve market failures

redistribute income

invest in technology
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When governments tax polluting companies
and subsidize college education, they are
serving the role of

a. protecting property rights.

b. resolving market failures.

c. redistributing income.

d. providing public goods.
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